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1. The more they earn, more they spend.

A. More they earn, more they spend 

B. More they earn, the more they spend

C. The more they earn, the more they 

spend

D. No improvement

Answer: 3)

The more they earn, the more they 

spend



2. It is easier walking than run.

A. easier walking to running

B. easier to walk than to run

C. easier walking than running

D. No improvement

Answer: 2)

easier to walk than to run



3. He has a house for 

letting.

A. for letting out

B. to let

C. to rent out

D. No improvement
Answer: 2)

to let



4. Old habits die hardly.

A. die much hardly

B. die hard

C. die too hard

D. No Improvement

Answer: 2)

die hard



5. The teacher asked the intruder who was he 

and why was he occupying his chair.

A. who he was and why he was

B. who he had been and why he had been

C. who he was and why was he

D. No Improvement

Answer: 1)

who he was and why he was



6. Manisha purchased the very good of 

all the sarees kept in the shop. 

A. the best

B. the most good

C. the very better

D. No Improvement

Answer: 1) the best



7. Education is a strong instrument for

moulding the character of the young.

A. striking

B. powerful

C. vibrant

D. No Improvement

Answer: 2) powerful



8. It is important to take pride of 

whatever we do in life.

A. feeling proud of

B. take pride in

C. take proud of

D. No improvement

Answer: 2) take pride in



9. That is the woman who we took shelter in her 

house.

A. whose house we took shelter in

B. who  taken shelter in her house

C. whom  we took shelter in her house

D. No improvement

Answer: 1) Whose is the correct relative 

pronoun here that shows possession.



10. A black and white goat were 

grazing.

A. The white and black goat

B. A black and a white goat

C. A black and  white goats

D. No improvement

Answer: 2)

A black and a white goat



11. The Centre can’t afford to procrastinate any

further (at) framing rules to regulate the trading

and use of bitcoin and other virtual currencies.

A. on

B. under

C. of

D. No improvement
Answer: 1) on



12. She said that if she could only see the world, 

she would had carry the baby home.

A. would carry

B. would had carried

C. will carry

D. No improvement

Answer: 1) would carry




